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{REVISED COURSE)
OF Code : NP-17698
(3 Hours) | Yotal Marks : 8O
N.B. + (1} Question No. 1 1s Compulsery.
(2) Soive any three gucstions lroin the remaining Dve guestions.
{3)  Assume data if requirsd.

(4) Tiguares to the nght indicate {ull marks.

1. (a) lising Source conversion, seduce the circuit shown in figare into single cars
source in paraliel with single resistance.
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(b) Denve the cendition for masdinurm power trans fer through the network., 3
(¢) Analternating current takes 3,375 ms toreach 15A for the first tune atie 3
bf:c: YN g instantaneousiy Zero. ihe ireque TIC oftrie current is 40 Iz, Fz d the
T y \'] y

..T'

Maximnum value ofthe elternating current.

(Y Derive the eguation for resonance “rreouermy | 1T1in paraliel resonance "*irc,ui‘-..,

(e} Thliree identical couls each (4.2 -1 5.6] ¢hia ave connz=cted 1n star Acr '
rhase, SGH7 su } My, determine {0 vpn (11) ‘Dh (111} Power ractor.

(1) ‘What are the tosses in the transzermer? Explain winy the rating of transfoirmer in A
EVAnotin KW,
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(g) Draw complete V. characieristics ¢t a Diode o
2. (2) Dietermine the potential different VAB ftor the given network. ¢
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(b)) When a lﬁalbtul anG ananductor m serics ate connecicd o a 240V sanply, 2 Q
current of 3A flowe lagzing 27Y behind the supply voltage, while voitage across

1, AT

inductor1s 171 vori. oind the resistance of resisiorn, resistance & reacuance of the

inauctor.

Con., 9292144, | TURINOVER



fod
]

2
(¢) Drawp yramn of single phase rransformer on resistive load [Unity power

.’r,a.::.torj c‘ inductive lead {lagging power faciori.

(&} Three similar colls, connected in star, take at t“ﬂ cower ¢t 18K W at a power
tactor ol 0,200 lagging (rom a thiree pnase 4 U voits, 501z system. Calculate th
resistance and inductance of each ceil. Also draw the phasor diagram showing th

(b A SkvA200/400 voit, 504z, single phase transformer gave the following test

{

resuiis,
O.C. test [LV Side] 200V 0.7A 5OW
S.C. test [HV side) YAY 16V b2 0'W

(i} Draw the equivalent circutitl o1 the transformer reierred t¢ LV side 1osert all
parametes values.
(11)  pithciency at U.9 power tactor

(c) What s function of fiirer in rectificr circwit? Draw circuit of rectitier with
tnauctor fil‘i; 2T

(d) FExplainwith circult diagram working of CE configuration ot Bi'l"
c(a) Irindaonequivelentiesistance between Alancd 13,
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(b)) A circuit consisis of three paralicl branches. The branch currents sre given as
i = 105m ot 1, =20 5m (ot -+ DUJ\ and 3. =75 Sin it - 30). Find the resuitant
current and ¢ m,w i the formy d = dm S (ot 4 &), 1 the suppls freguency 1s
SOHz, ealounlare the resultant current when (1) 1= 0, (11) 1= 0.001 sec.
(<) A3 phase, 10 VA fcad has power tacior ~9f'(}.342. the power e measured by fwo
wartmeter m_f:tnod. Find the reading oi each wattmeter when,

(1)  Power facior is leading
(i1)  Power fzotor 3 lagoing.
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(d) oxplain working
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{
3
5, (2)  Find the current through A0 resistance by using Thevenin’s theorem.
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(b)Y Find current I, and [, shown i figuie
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(c) ASOKVA, 4400220 volt transtormer bas R, = 5.4551, K. =0.009Q  The reactance
are X, = '5 242 an d A, = 0.015£2. calcwate for the transfornier,
(1 TFulliload ':;'11** als on Prirmary and Secondaiy side,
(11} Equvalentresistance, reacrances, impedances referred 1o nrimarv side and
S

seccondary side, and
() Tot pper foss using individual resistances and esquivalent resistances
0. (ay Find the current through 6G resistor using supercosition theorsm.
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A cotl of ductance 31 8mEl with resistance of 12Q s connectad in paralle! with o 7
capacttor across 230 velts, SO0Hz supply. Determine the value of caragitance, it no

reactive current is tauken from the supply.

rxplain Measurement of three phase power nsing two wattmeter method. 6

A WL A M e e s e s T A A e e e e e v — R A U — o — — — =



